[image: image1.jpg]Problem 3.82 3.82 A 1.5-m-long wbular steel shaft of 38-mm outer diameter 4 is to be made of
a steel for which 7, =65 MPa and G=77.2 GPa. Knowing that the angle of twist must
not exceed 4° when the shaft is subjected to a torque of 600 N - m, determine the largest
inner diameter d, which can be specified in the design.
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Problem 4.5 g 4.5 A beam of the cross section shown is extruded from an aluminum alloy. for

which ;= 250 MPa and Oy =450 MPa. Using a factor of safety of 3.00, determine
the largest couple that can be applied to the beam when it is bent about the z axis.
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] .4.18. The beam shown is made of a nylon for which the allowable stress is 24 MPa
in tension and 30 MPa in compression: Determine the largest couple M that can be
applied to the beam.
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Problem 4.21 4.21 Knowing that o, = 24 Lsi for the steel strip 4B, determine () the largest
' coupge M that can be applied, (5) the corresponding radius of curvature. Use £=29
x 10° psi. ;
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